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Instructions :

(i) The question paper consists of 15 questions. The candidate has to write answers
to all questions. Each question carries 10 marks.

(i) Enough space is available in the Answer Sheet for writing all answers. There 18
no provision for additional Answer Sheets.

(iii) The candidate has to write his/her answers in the medium chosen by him/her
only. If there is any deviation from paper to paper or part of the paper, the
candidature would become invalid.

(iv) Underlining or highlighting or putting special marks in answers would make the
Answer Sheet invalid. Writing in different inks would also make the paper
invalid. Candidates must use either blue or black ink only. Otherwise, the paper
will be treated as invalid.

(v) Though the paper in English is taken as standard for valuation under normal

circumstances, if necessary, a balanced view would be taken after comparing
English and Telugu versions.
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1. (@ Do you think the problem in India is “not so much knowledge

Cr eatiOIl, as knowledge conSumPtion” and SCientiﬁC SOCial

Responsibility (SSR) will go a long Way In remedying this
situation ? Justify your stand. Discuss the challenges associated with

the implementation of Scientific Social Responsibility. 5+5

OR

(b)  Technology plays a key role in transforming healthcare sector and in

addressing India’s healthcare challenges — Discuss. 10

() 2rSESTFOSQ DNVE “2Tey DIATBTHO AEVYS DB TS DI
BE0YS”, & HOVRD HOILO0VROS FIAOH FSrRE 2cHses
(SSR) 2305s505a0s)0BR DD e NZVOLNTYIT® ? o DO
DDQOVOAR. FINCH FSTrBE  23sed  eedeNy 000D
QT 8 HONOR.
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2. (a) Digital platforms dramatically improve the quality and accountability
of public service and facilitate citizen centric governance — Elaborate.

Explain various Technical, Economic and Social bottlenecks in the

implementation of e-governance programmes 1in India. 10

OR

(b)  Explain how ‘Atmanirbhar Bharat’ initiative i1s bringing a big change

in India’s IT sector. Suggest the steps to be taken to make India a

Global technology hub. 10
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3. (a) WhatisSpace Junk ? Discuss the challenges posed by increased space
junk and the potential risk associated with it. What do you know

about Project NETRA ? 10

OR

(b) Why is India’s space industry looking for private sector investments

even though ISRO is a successfully performing PSU ? 10

() )0 2205 (Space Junk) @0 JWE3 2 DOA 2905088 S§TO D
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4. (a) Though circumstances are strongly insisting for India to overturn
decades of ‘No first use’ nuclear doctrine, still India is committed to

No first use of nuclear weapons — Comment. 10

OR

(b) What is Green Energy ? Discuss about the Green Energy corridors

and their need in India. 10

(00) TP &) 'S D 0reS' (No first use) Srs8aHd DT o)
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5. (a) Climate change is a global concern which needs urgent intervention to
combat it — Explain why. Discuss how climate smart agriculture

mitigates the devastating effects of climate change. 10

OR

(b) What is meant by open cast mining ? Discuss the impacts of open cast
mining on environment and solutions to overcome them. Add a note

on the importance of post mining reclamation. 10
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(a) What are various mitigation activities by the Government of India to
lower COy emission for trading of carbon credits in the international

market under Paris Agreement ? 10

OR

(b) Explain various challenges associated with disposing of massive
amounts of Municipal solid waste. Discuss action plan for municipal

solid waste management in India for cities generating waste > 500

tonnes per day. 10
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i. “a)
(b)
(e9)
(es)

8. (@
(b)
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Biotechnology has unlocked a vast potential for improving human life,
but the risks it poses are now a concern — Discuss throwing light on

blessing and curse of Biotechnology. 10

OR

Why is Ecotourism considered as a tool for conservation of Natural

heritage ? Discuss challenges associated with Ecotourism. 10

QAP BIS) 023 I BTV EDIET DB DT §eIeD
SIO8BV0B, N TRV SO FOT 1DSroren BHIE SoETS
EOANTION — DB ®2 By (DTN DA
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Why is antibiotic resistance getting worse In India ? Discuss the

strategies and action plans in India to deal with this. 10

OR

Bio-pesticides are slower in action compared to conventional
pesticides, with shorter persistence and susceptible to unfavourable
environmental conditions, but still there is a need to shift towards

Bio-pesticides — Explain why. 10
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Why is the number of patents granted in India still a fraction
compared to China and US, even though India’s global position in

innovations has been rising over the years ? 10

OR

What are the tools required for the successtul commercialization of
Intellectual Property Rights in India ? Discuss the role of CIPAM 1n

commercialization of Intellectual Property Rights. 10
@;);’13,6559@@38 (Innovations) 2>8eT¥0 cﬁ»égr (0T YO (SO

= 01038, rdSTIoS WBOR oS 2HY38 B
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10. (a) Inefficient farming and poor distribution are reasons for the world’s

/
food shortage and the genetically modified crops are a bad answer to
the wrong problem — Comment. 10
OR

(b)  Why is monitoring and weather forecasting crucial ? Discuss the role
of ISRO in the weather prediction and capabilities in Disaster

management. Add a note on Mission NISAR. 10

(®) OIS HFOTONO DHBAW VOISR DONVES S5IQ (DO
B80S SEeSE 52877, BDINSOMT S ) TOAS doren & TSed
SNOVETRE BN (D&§e37°) OO 5N — AP0 R.

g
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1%, (a) Discuss how Artificial Intelligence manipulated digital media can
impact privacy, democracy and national security of a country. Suggest

solutions to tackle this infodemic. 10

OR

(b)  What is the current scenario of renewable poweér generation in India ?
Discuss the factors responsible for the growing focus and shift

towards Renewable energy. 10
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12. (a) What is coastal erosion ? Discuss factors causing coastal erosion. Why

is erosion dominant in the Eastern coast than the Western coast 1n

India ? 10

(b) Discuss how technology translated into a medium for the destruction

(e9) e3¢ §°¢% (coastal erosion) 90T oD 7 33 530 HEANADS STOSO
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13. (a)

(b)

(e3)

14. ‘(a)

(b)

(e9)

(es)
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The most important climate goal 18 limiting the Earth’'s warming to
1-5° Celsius. What happens to the world if we pass the crucial

1-5° Celsius climate threshold ? 10
OR

Block chain technology is the doorway to transforming the agriculture

sector in India — Discuss. 10

6505  AVDIDY  FTIOL OFSO  ZPTeD SBE)LEQ)
150 DOICHDV L  DOMWS0  TOHO. S0 SEDS I
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What are the reasons behind the India’s opposition to sign the
Non-Proliferation of nuclear weapons (NPT) ? Discuss the impact of

the civil nuclear agreement with the Nuclear Supplier Group (NSG)

on nuclear power generation in India. 10
OR

What are e-waste recycling practices in India ? Discuss the highlights
of new e-waste management rules 2022 notified by the Government of

India. | 10

OET COVTTD a°§a) VOGS (NPT) $05%0 TOLEAE eSSBS0
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15. (a)  Discuss why India did not sign the COP26 pledge to stop deforestation

and cut methane gas emission by 2030. 10

OR
(b) What are Gene Sanctuaries ? How do they protect the genetic

diversity of plants in India ? 10
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